L

Let R1 and R2 be two relations defined as follows :
R ={(a.b)eR*:a* +»* €O} and

R, ={(a. b)) eR*:a* +b* g O}, where Q is the set of all
rational numbers. Then : [Sep. 03,2020 (II)]
(@) Neither R, nor R, is transitive.

(b) R, istransitive but R, is not transitive.

(c) R, istransitive but R, is not transitive.

(d) R, and R, are both transitive.

@@ ForR let a=1+42,6=1-42,c=8"*
aRb=a* +5 =1+V2) +(1-¥2)*=6¢€Q

bRe=> b+t =(1-2) +(8"*)P* =3¢eQ

a.R;c:>a2 +c =(1-4—\E)2 -+-(8H)2 =3+42 g0

. Ry 1snot transitive.

ForRylet a=1+42,5=42,c=1-42

aRb=a +5 =(1+2) +(W2)? =5+2V2 20

bRrc =B+t =(W2) +(1-42)2 =5-242 20
ach:a:‘H:2 =(1-+-\/§)2-+-(1-\/§)2 =60

.. R, isnot transitive.



